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QUESTION 1

You accept an IT internship at a local charity. The charity asks you to keep a record of its volunteers by using a
database table named Volunteer. 

The table has the following columns and rows: 

When volunteer information changes, you must update the table. 

You need to change Tia\\'s name to Kimberly. 

Which statement should you choose? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 2

Which two elements are required to define a column? (Choose two.) 

A. A name 
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B. A key 

C. An index 

D. A data type 

Correct Answer: AD 

 

QUESTION 3

You need to add rows to a database table. 

Which Structured Query Language (SQL) keyword should you use? 

A. JOIN 

B. INSERT 

C. CREATE 

D. UPDATE 

Correct Answer: A 

 

QUESTION 4

One reason to add an index is to: 

A. Decrease storage space. 

B. Increase database security. 

C. Improve performance of select statements. 

D. Improve performance of insert statements. 

Correct Answer: C 

 

QUESTION 5

You need to remove a view named EmployeeView from your database. Which statement should you use? 

A. DELETE VIEW EmployeeView 

B. DELETE EmployeeView 

C. DROP EmployeeView 

D. DROP VIEW EmployeeView 

Correct Answer: D 
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